
October 15, 2015 
 
08:30 
 
Experiment Setup: 
We install the shashlik cell equipped with DSB1 fibers connected to clear fibers and then 
attached to 4 SiPMs. Photek is put behind the shashlik cell as a timing reference. 
 
The table is placed at location (X = 50mm, Y = 445mm) for the shashlik cell to be in the beam 
spot. This was measured by eye. We will perform a scan to confirm this position. 
 
Warning: Table default X position is too far to the right and will pull on cables. So do 
not move the table to default position in X. 
 
 
Data online : 
data is on pcethtb3.cern.ch 
user: cmsdaq 
PW: .cms.daq.2014 
 
/rawdata/raw/DataTree/... 
 
Data offline : 
pccit31  
/home/bornheim/CERNTB/Fall2015/DataTree 
 
eos : 
/eos/cms/store/group/dpg_ecal/alca_ecalcalib/ECALTB_H4_Fall2015/raw/DataTree/ 
 
9:00 
 
We found one area upstream of us that was in access. turns out nobody was there. we close 
the area. 
 
We select Beam option 052. 



Beam doesn’t seem to coming to us. We call the main control room and they discovered some 
beam block that wasn’t in the right position. After this we see beam. But getting 50,000 counts 
per spill. Adi says this is too much and suspects it’s not electrons. 
 
09:20 
 
We start a run and see what happens. 
Run 4253: don’t see any pulses. hodoscope shows the beam profile is correct.  
 
09:30 
 
Actually we do see some pulses, but they are very rare. most likely we’re not aligned. 
photek has some pulses, scintillator has some pulses. 
 
09:51 
 
Move table to X=510, Y=445 
Run: 4254 
 
photek has some pulses, scintillator has some pulses. 
 
Move table to X=520, Y=445 
Run: 4255 
 
photek has some pulses, scintillator has some pulses. 
adi says it is less pulses and smaller now. 
 
Move table to X=530, Y=445 
Run: 4256 
 
10:20 
 
We did access to re­measure the position. Placed aluminum bars below the box to raise the 
box because the table is at. 
Move the table to position 
 
Run: 4257 
 
 



Run: 4258 (position X=500, Y=399) 
 
 
Run: 4259 (position X=510, Y=399) 
 
Code to analyze the CAEN data is committed on github: 
https://github.com/CaltechPrecisionTiming/CPT­CERN­October2015 
 
to compile, run make. Then run with: 
 
 
“./analyze_Shashlik inputFileName.root outputFileName.root” 
 
 
Run 4260 to 4288 : Table alignment. 
 

 
 

https://github.com/CaltechPrecisionTiming/CPT-CERN-October2015


Good table position is x=51, y=382 
 
from 100 GeV electron data with DSB fiber 
 
 
digi channel 0, LR : small amplitude, large SiPM 1st batch 
digi channel 1, UL : ~1000 ADC counts, large SiPM, 2nd batch 
digi channel 3, LL : ~few 100 ADC counts, small SiPM, 2nd batch 
digi channel 4, UR : ~1000 ADCcounts, small SiPM, 1nd batch 
 
15.10.2015, 19:00  
put in capillaries : 
ch0 : S084 
ch1 : S091 
ch3 : S086 
ch4 : S085 
 
in this process, realised that ch0 fiber on SiPM might not have been inserted fully 
into support tube and facing the SiPM. 
 
scan cell with 100 GeV : 
 
4302        x=51, y=382,   60k 
4303        x=51, y=382,   40k 
 



 
 



 
 
 
 
4394        x=51, y=385,   
 
23:00 start scan with 200 GeV 
 
4313       x=51, y=385 
 
 
 

October 16, 2015 
10:00 
 
We set up the SiPM matrix.  



 
 
 

 



 





Saturday : October 17, 2015 8:00 
Put back SH cell. SiPM on SH cell same cabling as before. CH5 : scintillator, CH7 : Photek. Scan at 

150 GeV 

 

 



 
 
 
 



 
 



 
 



4406  
4407 
4408 
 
 
Insert Y11 fibers. They are slightly thicker and do not fit into the clear fiber coupler. 
 

 
 
4409  
4410 200 GeV 
4411 150 GeV 
4412 100 GeV 
4413 50 GeV 
4414 20 GeV 
 
End of Shashlik Cell timing test : Sunday, 18.10.2015, 9:30am 
 
 
 
 



Pictures of the SH setup : 

 
 
 
 
 
 
 
 
 
 
 
 
 



PbWO ultimate timing : 
Initial channel mapping : 

   
 
Second round channel mapping : 
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